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ADjEE 83.3 76.6 90.0  87.1 836 864 771 82.1
Ef=al | 1.6 23 0.9 3.6 1.4 0.7 0.7 1.4 7Hol 2= FEHoj|A,
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TV, | 74 8.6 6.3 7.9 2.1 2.1 8.6 16.4
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7|2fo ?':%%E%) (36) 3.0 okl B 756 | 534 720 763 87.2 766 73.7 87.1
(= =)
AM2E (85 4.3 0r2l HIEtM 244 | 469 28.0 23.8 128 234 263 129

* &2 FoKE 7| 12| SEO| 30 0ldel ZR2| FHE| 2|2t HA|
* PUst MEO| MS O = MS0l2t SEHE HIE

[Base : T SEAL, N=700, 5+8E, %]



o Mo|R, uf et Ef7, akE

=
HAHHIE, MA/OIC|o, 71218 Y

, =H/F0/ERESE 8
=
=

= e e = = AOEE PC
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HAHE  (42) 97.6 14.4 32l (41) 61.0 2.4 36.6 (42) 452 40.5 11.9
jMe|=  (128) 84.4 6.4 0t (108) 81.5 - 18.5 (128) 51.6 29.7 15.6
mjMEEE  (85) 83.5 6.4 0t (71) 76.1 14 22.5 (85) 60.0 271 9.4
EIZRZE (40 82.5 10.0 2t2l (33) 78.8 3.0 18.2 (40) 50.0 475 25
AZXFKEE  (40) 82.5 8.4 0t (33) 75.8 - 24.2 (40) 525 25.0 17.5
MA/DIC|o  (47) 76.6 3.7 22l (36) 58.3 - 41.7 (47) 51.1 27.7 21.3
SIEE/Ee (49 75.5 4.2 0t (37) 91.9 - 8.1 (49) 55.1 18.4 22.4
BEFOHEEE 8  (39) 4.6 0t (28) 85.7 - 14.3 (38) 60.5 21.1 15.8
HEE8 MEEE atel
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(700) (391) (132) (529) (391) (132) (292 (%)
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122 ojet] o 72 45 7 67 N
HIZofl cHst
747 742 T
1erel~aorel I s0.1 309 235 8= &4 > s e 709  67.3
TLOiE M2
sarel~102tel ] 21.3 230 288 ng- 565 | 563 583
CIxtol 2 At 49.0  46.9
10rei~158t2d | 67 6.1 8.3 siast Tlse
] . 421 490
152k2l~200tel 3.8 3.8 Chakl ’5451%- 46.1 465 455
HlJT'I_ . .
52 37.7 408
208kel~253t2l 13 23
20 go[x|o)
253tel O[4 43 76 Ep— EE 284 204
= A 156 212
g 71 6.2k 6.20H  7.6TH3 Toist= 2 229 214
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2|2 MYt sYd2 Fol/EettZ 7t B, Ols/2Y > AXEX &
=N, 30-40CH= EZ%, 014, 40tli= FY/EEMLE,
10- 20EHL01|§ Ol fe OXH|C|QE A|ASH= H|S0| At o=z 2 o

ey 0id 10cH 20cH 3ocH 4och 50cH
(350) (350) (140) (140) (140) (140) (140) B O] +4% 29

sh/cajat 217 297 200 207 279 371 229
=}
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olls/39 197 189 = 293 250 193 86 14.3 LA, 30-400)= AZEE,
AmE 22.9 43 57 100 193 200 129 018, 40ci= Fsh/=efots,
10-20Cl= Ol 5/28 =
x| M4 123 193 1741 8.6 43 10.0 DxH|C|QS
A&et= H|= 2
2atol SNS2| 0|4 9.1 123 100 93 107 14 121 k= HIS
20 51 54 2.1 5.0 36 57 10.0
a8/2408 4.9 54 50 29 50 57 71
ojay/2 Al 09 37 2.1 36 14 1.4 29
Q8|34 1.1 34 07 2.1 1.4 43 29
7IE} 3.1 46 57 43 29 14 5.0
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oz ax  BA EERISN
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(180) (135) (95) (83) (75) (37) (36) (16%) (16%)
ADIEE 69.3 58.9 711 65.3 80.7 89.3 757 44.4 68.8 75.0
Et=2 ] 36 4.4 3.7 4.2 24 1.3 5.4 2.8 6.3 -
PC/=ES 194 26.1 18.5 221 12.0 8.0 5.4 50.0 12.5 6.3
TV 74 10.6 6.7 8.4 4.8 1.3 13.5 2.8 12.5 18.8
_ & AlHE 8.0 % 178% 74% 21% - 13%  27% 222% 63%  63%
Total 2A0EE Ef=2l PC/LEX v
H ~ E
ClHIO|A H AN EH (700) (485) (25) (136) (52)
REAMZE 8.0 4.5 16.0 15.4 17.3
EXAE 877 91.5 80.0 89.0 51.9
St A1g of
S0l AlE 122 8.5 20.0 1.0 48.1
ST AIE 627 66.4 52.0 55.1 55.8
A Y CHE 22 ol SAO AIE  31.4 28.5 32.0 39.7 36.5
SAMNS AR 5104 AIE 5.9 5.2 16.0 5.1 7.7
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